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( Optional )
Full Marks - 70

Pass Marks - 23
Time - 3 Hours

Candidates are required to give their answers in their own words as far as

practicable.
UG QUEHE YA Wi H & I S|
Figures in the margin indicate full marks.

i & o quits Ffge s &)
All questions are compulsory.
|/ T H IW T |
Instructions :
fdwr :

Question Nos. 1 - 10 are multiple choice type. Each question carries
1 mark.

R HEAT 1 - 10 T Sgiashedd TR § | Uelw W 1 S W E |

Question Nos. 11 - 20 are very short answer type. Each question carries
2 marks. Candidates are required to give their answers in not more than
30 words each.

Te HE@T 11 - 20 9% 3 oY IR & |Wm2ww% | gieedt argen
I TR 30 VR @ SE H A E |
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(1) Question Nos. 21 - 25 are short answer ype. Each question carries

4 marks. Candidates are required to give their answers in not more than

100 words each.

S W 21 - 25 7F oY I E | GAF W 4 3% HE | qRyeel AT I
Yed® 100 VIR @ AF H AT |

Question Nos. 26 - 28 are long answer type. Each question carries
5 marks. Candidates are required to give their answers in not more than
200 words each. Answer Question No. 29 on the map provided.

U T 26 - 28 9F Y IqUA E | URF U 5 3 & & | gl 7O I
TIE 200 VI 9 s 5 F & | yeq @@ 29 H I SH WAy | 9 |

F

{ Multiple Choice Type Questions )
( Fgfaseua uvT )

1 x 10 =10

Who has given the concept of determinism ?

'{(a) Frederick Ratzel (b} Fraﬁcis Bacon

(c) | Griffith Taylor { ({d) Miss Ellen Semple
favamar ® el feE T ¢ 2

(B VR 1T (@) wifew s

(m faftees 2R (7) FHL o A |
What kind of population is found in the Amazon river basin ?
(a) Dense population (b) General population
(d) None of these.

(c) Sparse population
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¥

(Y aus Hedm () Hrar Ay
(M) faver weredmm (1) 39 9 T =

Which of the following comes under communication services ?
() Rail (b) Acroplane

(¢} Internet (d) Nonc of these.

frer 0 @ i du gt & staEia w7

(%) ™ (7) w38 78T
(. 2tz (71) %79 9 FiE T |

_In which country is the Trans-Sibcerian Railway located ?
(a) China (b} India
(c) Russia (d) Canada.
2 grgator eanm fEa 2o 4 fea 2
(%) A4 (73) I
(1) (1) A7 |
When was the first census held in India ?
(4) 1865 (b) 1881
(c) 1870 (d) 1890,
e o A g AT A AL A 7
(%) 1H65 (73) 1881

(1) 1H71) (41) 1890,
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6. Which state has the highest poverty in India ?

(a) Bihar (b) Orissa

() Jharkhand (d) Assam,

IR ° g Ay 1ie frg g H § 2

3 R (@) 3

(M  #rEvs (1) | |
7. Where is sugarcane produced most ?

(a) Bihar (b) Uttar Pradesh

(¢} Tamil Nadu (d) - Maharashtra.

8. 'Diamond Harbour' is situated on which river ?
(a) Haldi river (b)  Hugli river

(c) Ganga river (d) Mahanadi.

‘granE T R i g )
(F) &= T (@) grelt 75y
(m) TR (F) =Ry |
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9. The raw material of which of the following industries is obtained from

forest ?

{a) Sugar Industry (b) Cotton Industry
(c} Paper Industry (d) Tea Industry. |
fret & & o 3 @ ol e o A B8 2

(%) = @m (@) gt a@ 3am
g FT (9) =/ S |

10. Which of the following is a ferrous mineral ?

(a) Copper (b) Nickel

(c) Gold (d) Bauxite.

fr & ¥ 9 oo @ E 2

(@) dien . @ e

(m @ | (7) S |

( Very Short Answer Type Questions )
( ¥t g I e )

2x10=20
Answer the following questions very briefly :

ey oot &l feE IS

1 I‘ﬁha't is humanization of nature ?

peanieateiceicauics il

Mxplain the difference between large indust ry and small scale indﬁstry

St 3eii T g A T8 S wme wt |
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_ ) . activities of hunting a
13/711(“'}“‘3h areas of the world is the primary activities of h & and

collecting done ? https://www.jharkhandboard.com
Wt TFATReY e ve wugor favg & Fea a9 o fwaT AT E 7
L¥ What are the advantages of roadways ?
HIF AN F T B ¥
15. What do you understand by Balance of Trade ?
MR H@Je d 39+ |\ §
16 "What is the difference between rural settlements and urban settlements ?
THT AfE wd e afedt § = osio ¥
17, Define city and metropolis.
TR TH TR &Y qfesmsy &
18, Explain the differences between metallic and non-metallic minerals.
e us stafeas wiasit o siay w1z =i
J19 -Why are roadways in India more convenient than railways ?
WA H Hgeh AT {6 AT S S19e sfus i 8, 6 0
26. What is drought ?
@ FE 7
( Short Answer Type Questions )
( Y I 99T )
4 x5=20
Answer the following questions in short :
=t wy & dfefd I T ¢
21,Mention the factors affecting the distribution of population.

FATEE % et it wifad 37 A6 SR FT Ieong Y |
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' e : ication Services
QQyWhat is communication services ? How are commun

affecting the-whole world ?

TR Q= § ?agﬁmmtf{%ﬁﬁﬁmﬁ‘ﬁm%?

23. Explain the problems of rural settlements.
e e 4 st # o

Mhat is the reason for uneven distribution of population in India ?
A e & S e & @ FROE 2

yHOW is the use of plastic affecting the environment ?
e SN & e @ T 0 7

( Long Answer Type Question )
¢ e IHAT WA )
5x4=20

Answer the following questions in detail :
fefEa wet % IR foRaR @ g -
26),./.What is the role of Trans-Siberian Railroad in Russia's economy ?

WWWWW&%MH@W%)

27~ Explain the geographical conditions required for tea.

% o amaTEs MIMifer SRS @i s

Q{What is the reason for the development of cotton textile industry in

Maharashtra ?

e 3 gt A A & e s 7 e & w Fwer o
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29. Show the following in the map of world provided :
(a) Sri Lanka
(b) Bay of Mexico
(c) Norway
(d) Argentina

(e) Madagascar.

W HER & "ty § B o) fmre -
(F) it

(@) wfsgs #t @

(m A=

™ R

(¥) wHerma |

ﬂ
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